Dammam Community College
MATH 011  

Past Exam Questions  

Sections – 2.6 & 2.7
1- Let 
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be an odd function such that 
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 Find the coordinates of two points on the graph of the function 
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Answer:  
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2- Find the equation of the graph which is obtained from 
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by means of a reflection across the
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, a horizontal shift 2 units to left, and vertical shift 7 units up. 

   
 Answer:  
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3- If the graph of the equation 
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 is shifted left horizontally 2 units and up vertically 3 units, find the equation of the new graph.

    
Answer:  
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4- If the graph of 
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 is shifted horizontally two units to left and vertically three units up, then the equation of the new graph is:

     
Answer:  
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5- Let 
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 be a function such that 
[image: image13.wmf].
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 Give the coordinates of a point on the graph of each of the following function

a) 
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b) 
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3

)

(

+

=

x

f

y


 c) 
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d) 
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Answer:   a) (-1, 4) ​       b) (-3, 7) ​       c) (3, 4)        d) (–3, –4)  
6-  If the graph of the function 
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(

x

g

 is obtained from the graph of 
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 by means of a reflection a cross 
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, a horizontal shift 2 units left and a vertical shift one unit up then 
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 Answer:  
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7-  Let 
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 be a function such that 
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. The coordinates of two points on the graph of 
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Answer:    (1, 7) ​, (–2, –14)    

8-   The graph of the equation 
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is:

a) shifted left horizontally 1 unit, and shifted up vertically 2 units, then
b) reflected across the y-axis, then
c) compressed vertically by a factor of 
[image: image28.wmf]3
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 toward the x-axis.
              Find the equation of the new graph.
       
Answer:  
[image: image29.wmf]2

x

y

-

=


9- Given the function 
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   where 
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is the greatest integer less than or equal to y.  
A) Find the values of each of the following:
i) [image: image1.wmf]f
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ii) 
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iii) 
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iv) 
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B) Sketch the graph of 
[image: image36.wmf]()
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10- Let 
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be the greatest integer less than or equal to y. If 
[image: image38.wmf][

]

()12

gxx

=+-

, find the exact value of each of the following

(a) 
[image: image39.wmf](

)

g

p

-=


(b) 
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Answer: 
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11- Given the function 
[image: image42.wmf]31
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,  where 
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is the greatest integer function.  Find the value of 
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Answer: 
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12- Find the interval on which the following function is increasing 
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[Hint: Sketch].
Answer: 
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13- Find the range of the function 
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[Hint: Sketch].
Answer: 
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14-  Given the function 
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(A)  Sketch the graph of 
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(B)  Find
(i) 
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(ii) 
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(iii) 
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(C)  Find, in interval notation, the Domain of  f .
(D)  Find, in interval notation, the Range of  f . 
(E) Is  f  a one-to-one function? Why?
(F) Find the interval where f is decreasing on

Answers:
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